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Uqpurhplrhp 6420000

S\b\ulnrlru\rutr burnrulnrplndr/ba4rlrut aBal,np[g 280000

92411100 lurluruururLf hurtrpurqtuunpSurb ptpplr purdurhpqurqrntplnilr uu rIFuil 18000 18000 L

92411100 Lnnnt rlurpq phpp uu 4Furd 40000 40000 t
92411100 Tlur2urnhur\urh urhlh\uqlrp uu lFurl 124000 124000 1

92411100 Inpbp ulluurqlrp uu hurur 4000 48000 L2

92411100 :<9npbptrpurg >>ptppir pudubnp4urqpntpl nth uu +punl 5280 5280 1

92411100 :<Uprnur\urpq ptpldt> 2urpurpurphpplr purdurtrnpryuqpnr-p1nth UU 4null 6720 6720 1

92411100 Jur2urng untuurqlrp uu 4Full 6000 6000 1

92411100 .<-{UI. qULbC >>rltplnr-bur\urh-urh1h\uruulu\utr utluurqfp UU 4purd 8000 32000 4

clpruubblu\ur1]rh hptptp h qlrurntlphbpftqrlurb 4261l,np[g 450000

30197531 t_'1u.qp/ A  $nprlururlr (21x29.7) uu urnr$ 2300 2s9900 113

30L9723L f}rUaurqrulnu\ rqnfirrltpurl[b puquttp, $ur11 uu hunn 15 1500 100

30t97232 l}nBullurhrulr /urnruqruturn, BnBlur uu huln 80 16000 200

30197233 flrurruqurbur\ /pqpt, phln{ uu hurur 100 10000 100

30197234 t&4pulqurhur\ /p4puquhu\ \n2u \utqfn{ uu hurur 1000 19000 19

30199232 Opurp/rlhb, A4 $nprlururlr huilutp uu huln 60 3000 qn

30L92t2L +pb2/qt+h\uqnp uu huln 100 6000 60

30L92t28 +pb2/qh1u{btr uu hurur r.50 9000 50

30199420 @nqp h2milhtplr hullurp /unuhArlurbpn{ uu un{r 200 10000 qn

30199430 t 2mrltrtplr pnqp/upSur\Ltpnq uu tnm{r 300 3000 10

39253200 tpruutblurllurlhh qhpp, rlunnlurh uu hruur 1000 30000 30

30197321 \urpf2(uuhqltp) uu huln 1700 8500 5

30192710 Unutrdunlururlrur, qpuuhblu\u1|tr uu hunn 250 3750 15

39263310 Opurgnrlg utrlurtrlr uu huln 900 8100 9



30L92720 lbrub2frl (rlup\tp) uu hrurn 250 3750 15

30192135 Uulnlru qnl$]nnh rnhqrurlpqq rtt21tf{ uu hurur 200 3000 15

30L92L37 Uruuriru qrur$flnt rllr2nt\n{ uu huln 100 1500 to

30197111 gurplr2f rlturu:qurlurph \uqtp/ $rrpp uu unr$ 100 3000 30

39292510 €urbntr,ulluuuf\ uu huln 350 5250 15

30192114 rlurburp, $rlrplr purpd']t\[ hrurlurp uu huln 2s0 2500 10

30141200 lu2rluruurpp (\urftnqlunnnp) qpuruhtrlur\utbtt uu hurur 2300 9200 4

39263510 Uh4rlur\ (\t'qu)/ {mpn uu hurur 25 750 30

39263520 Uh4rlur\ (llllqu)/ ilbZblt uu hrurn 40 1200 5U

39263530 Uhqilur\ (\rlrqu)/ ilhb uu huln 60 1800 30

30192100 flhurlrh huruurpur\ uu hurur 100 1500 L5

30192750 b1 nrlururntphtplr hunlurpurbnr uu urntrh 600 3000 5

30192760 Uplr2, un{npu\urlt uu hunn 150 2250 15

30197331 lur\lr2purtrnhnrl uu hurtn 2200 11000 5

30199231 t unlurLh bpurn A5 &burlurtb uu huln 40 8000 200

3924L2rO [I$urur/ qruruhLlu\ttt1$t uu hurur 250 1250 5

22811130 Strnp 24 t2 UU hurur 250 1250 5

2a8trt30 Strnpl2 (p uu hunn 30 150 5

30192150 Furrluugrurhlntp/ Zunl lu uu hurur t20 1800 15

Spruhuqnpuull]rh hlntptp/ br4rlurb a25al,np[g 5000000

Urlrnaqruhhurnulluruhp * 5000000

210920034331300 Url uunthptburhtplr rqruhhuurunlurutp uu 4Furd 2!09200 1

34331300 ftquryrl uu huru 3s000 420000 t2

09211100 3nqhp uu tt*n 2600 130000 50

34326100 3nq} qurb2 uu hurur 4000 24000 6

34326100 )+hquhr UU huln 5000 36000 5

34331300 IturLlr urpqhlur\rlurh \nd{u{ uu \r.frq. 9800 58800 6

34331300 Jn2blr urpqtlur\rlurh \nd1ur\ UU \.rlq. 15000 90000 6

09132200 FhLqhh, nhqnrllurp s2 trun 410 2132000 5200

gtlrguutulbL h hrutrgurl|rh uhh4lr blnrphpAa4r[rub 4267 | , tylg 2s0000

39831241 Odun/&hnpft uu hurur 260 7800 30

39836000 Jrlhr uu hunn 750 37500 50

33751000 ln4urpurLlr pnqp/ nntlnLnrl uu hunn 100 20000 200

3922433t }nr11 puru/ ryrr1 rqluruuuluruurl]rg uu hurur 600 9000 15

39224332 lnt11 puru/ 41t11 g$r\uquru uu hunn 1300 r.9500 15

3922434t ?ulfppul (rurpurp\q) / rqluuurrluruurl|rg UU hunn 600 6000 10

39224342 lunlplnrq (urpup\q) / ilhuut4lut uu hurur 1600 16000 10

39513200 Olpt, ulb&hnngh\ uu hurur 105 L0500 100

19641000 tlnthkphhburtfrh urnqlur$rhp, ulutp{ urp} hurilurp uu hurur 10 L0000 L000

39855000 hurnur\ duppnrl drul uu hrutn 1000 10000 10

39831261 )durnlr ururpur/ Odun! unt$ uu huln 250 1500 6

3983t244 )durn / urlnntuur\urtr uu huln 150 8250 55

39839100 Inqurplrur\ (uulln\) /t\: hunlurphlnr. hur{up Anrln{Utrnuugru LIU hunn 1400 16800 12



39839200
Inqurplrur\ (uunln\) fiIryr hrurlurphlm hullurp
lnn nrl /'Ih uruulluruunhq

uu hurur 130 1550 t2

39811300 lrururquf2 (qtqqSp) UU hrurn 370 8880 24

39812410 iurhrrqplr rfrurlltgtlutr il[2ng uu hurur 600 6000 10

39831271 Julnr-bq/ Urublnnrulru:hlrqhtrlr\ h2urbut\ntpluh uu hutn 50 1500 30

3983t272 Uulmhq,/ Urlurh llurlnr uu hurur 30 930 5f

39838000 urihgqupbu\Ihhu/ uu hurur 1400 L4000 L0

3983t242 Lrl"tgph toZtr &hnpml llurhurlnt hrurftup uu \q 880 5280 o

39514100 Fulfpurfuru r{ur$lhhrlurh luurrlmn upp}r2hhp uu hunn 1500 15000 10

39522330 lururur\ ilurppblnr- 2np uu hrurn 750 12000 16

39522330 Jurppnq \urnptrtp uu tnntrfr L50 12000 80

Zrurmr\ hqurulu\ru1|rh ru11 hlnrptp/bqrlurb a269l, nFbg 440000

3712t2L0 Orul\urthh \nrlqnqf gltubtp UU hurur s000 220000 44

3t2t2tl )qJtIuhp uu hunn 2s0 40000 160

31212L2 Oru4\tquu\Ltp uu hurur 1s000 180000 t2

.Lrup:ru\urh uupprurlnpntrftrtp/hqrlurb 5122l,nFlrg 1000000

302tL220 Lrurfur\upq}r1 uu 4nuril 8s7000 857000 t
39121300/1 Zullurll urpqlurlf b ub4urh uu huru 42000 1.26000 3

30232231 9n2rn u\unlurnur{H D D500G B/ uu hul.n 17000 17000 1
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65211100 lurq! pu2]untd uu 4Iruril 1270000 1270000 1
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32351120 Jhppurqurpthh hhnurluruurl]rh bu:rrur1 ntpl nthhtp uu Dnuril 1000000 1000000 1

39LL1140 htrurhphtrn uu rl3url 740000 740000 t

54111200 Dnurnulhh bunrulnr-p1nth uu rlnull 60000 60000 I

Urqruhnrlurqpru\ruh burnrulntpgnrh/ hn4rlrub a215l,npfg 300000
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Dnluuugrrurffr2nghtpir hhur \urqrlurb urqruhn{urqpur\urlt
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uu rlFull 300000 300000 1

\,tpplrh qppEnulnulhtp /br4rlrub 4221l q?'l +punl 450000 450000 1

79991200 Upurruuulrlurhluh qppbnqntrlhtplr qtnq Eu{uuhp/baqr[rub a222l uu +purl 1000000 1000000 1
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hullurturnoh uruuruurnt nr.t[

uu uluPb 144000 144000 t

725Lt400 <<.{h\rnnp quntu>> U'TIQ Sur2}rp huilulLp}t uu rrrurFb 300000 300000 1

72s90000 lullur\urpq2ur1]rh bpurqrurllrtr urqruharlrlurh uquruurp\ntrl uu tnulph 156000 156000 1

80530000 U2lu. rtruutrruqlnnru\urh qrupq- trunru;nr-. /ba4rlrub aB3/ q?'[ nnurd 100000 100000 1

S\t\rurnrlru\urtr buurrulnrplnrh/hqrlurb aBal,npbg 200000

92421100 2ur1 ururnurblr hurhpurqhrnnr-p1 nr-h- hurpnupurpnr-p;nth uu rlluil 200000 200000 1

Ltp\urlruprg5u\ruh b .luutp/hqrlurb aB7 /, npfg 300000

98391160 Lhp\urlurgntggr\urh urpurpnqur\urpqurl|rh burnurlntplntLhtp uu 4puril 300000 300000 I

C!4hruhnrp pb-ntlplr ru31 brunrulnrylnrtrtrhp/ha4rlurb aB9l, npf g 18s0000
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Gthphnlr h \'rnuqghtplr Ehprugpnui baFnqnt rt tt q*lq*t o@

Chbpfplr h 2]rtnrplnilrtrtplr 2]rhrupupn 5112/,nJrlrg

Uurnurlntplnilrhtl

Ql4hrubnq ptaqplr brunurgnrplnrhhhp/ haqrlurb 4239/, nplrg

uruulnathtplr qtrl qurlpurplr bunurlnrplnthhhp

ph1ur1 hh r}nfu uulpulf |r2nghhpb brunur;ntp;mtrhhp

U2luunnubphtp
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4523LL44 nurqbh rl bnurbnnnqrlurh ru2luurururtrphtp uu 4nuril | 800000 800000 1

Cthpbp[r h 2]rtrnrplnttrhtp[r 2]rtnupurpntplnth/hr4rlrub 5112/,np]rg 2923850

4523L743 lpurqblr ruhg\urgntrl sz 4nur{ I 2923850 2923850 L

Urqprubphtp 1000000

Zruurnt\ truluurur\ru1]rh ru11 hSnrphp/bl4rlrub 4259/,npltg 1000000

31512360 LulIq sz hurur 2100 207900 99

3r7tr200 rnL4huurunp s2 huln 1s00 7s000 50

42131400 lpnut1 s2 hruu 5500 275000 50

31211180
rquuruuu! uuzqu{rz qz huln 15000 75000 5

31212000
Jqurnuunn ruuzrurnF) Enur*urq ruuA s2 hunn 15000 75000 5

31531590
.ruFurulr/ ru !ululrglrz/ sz hurur 11000 66000 6

31211180 Jr.l urnrfiuur urL2urubl uu hunn 2800 14000 5

31512360 lnruurp&ur\ uu hurur 7500 82s00 't1

31512360 I.unlq 1muu4]uqurlflt uu hurur 1000 qnnn 9

3L22t600 funlurhur\|r nhlh q2 hunn 22s6 20304

315L2360 Ulrur\nprun t\nlulf 1tuilq 95 {u q2 hunn 2000 100000 50

U2]uruurultphfp 7000000

Chtrphplr h 2|rtarylnilrhtplr \urnnqnul / hn4rlrub 5112/,n3]rg A 7000000

45310000

45316110

Dn{ngLtptr qb2hpurl}rh lntururlnpntplurtr gh4lurllllub h
u:uhururhrfurh burluutn

.TIQ rIDu{ 7000000 7000000 1

Uq3ubptrtp 4680000

$puruttrpr\ru1]rh hlmphp h rqlun-ntlptrhpftn4rlurb 4261/,nplrg 120000

30197531 f+nqp/ Aa $nprfunnlr (2tx29.71 uu nnr$ 2300 80500

30197231 faryaruqruhur\ rqnfrrf tpurl|rh purqubp, $u11 uu huru 15 180 t2

30t97232 fdlBullurLurt /urnurqurturn, BnBtru uu hunn 80 960 12

30197233 @q puquhur\ /foqph, fnbpq uu hurur 100 s00

30197234 @ryrulqurLur\ /pqpulqurhur\ \n2rn \urqrln{ uu hunn 1000 12000 12

30199232 Opurp/rltb, 44 $npilururlr hullurp uu hunn 60 600 10

30L92121 eplr2/qtt4b\uqnD uu hurur 100 1000 10

30192128 $plr/qh1u1|rh UU huru 150 750 5

30199420 @nqp tr2nultttplz hw[wp /tnuttdQwtpnQ UU nnzQz 200 200D

30199430 t 2nulhtplr pnqla/upgu\Ltpn{ uu rnnrtr 300 900 3

39263200 $puruhhlur\urlhL qltnp, rlunnlurh uu hunn 1000 3000 ?

30197321 turplry (uurhultp) uu hunn 1700 1700 L

30192710 Unuh&unfunnlnn, qpurutLlur\ur1]rh uu hurur 250 500 2

39263310 Cpurgnqg utqurLlr uu hunn 900 900 1

30192720 $bruhZhf (rfiup\hp) uu hurur 2s0 1250 5

30192135 Uunnfrur qpur$]rurb urtqru4prlnrl rflr2nt\n{ uu hunn 200 1000 5

30192137 Jurulnn qpur$irurh rllt2nt\n{ uu hunn 100 500 5

30197111 rrurplr2f rltururqurlurph \utqtp/ +npp uu um{t 100 1000 10

39292510 €urtrah ,rqluruutlt\ UU hunn 350 700 2



30192114 @uhup, \bbph purna,h\lr hullurp uu hurur 250 250 L

30141200 lur2{uruurFp (\urlllnqlruunp) qruruhhlur\ur;}rtr Lru hurur 2300 2300 t
39263510 Uhrldur\ (\tlqu)/$npp uu hunn 25 s00 20
39263520 Jh{ilu\ (l1t'qu)/,IhZlrh uu hunn 40 400 10

39253530 J\ilur\ (\Dqu)/rltt uu hurur 50 600 10

30192100 tlhufhhuurupur\ uu huln 100 500 J

30192750 $lnrluruurtphhplr hrurlurpurbnr uu unL+ 600 600 1

30192760 Up[2 un{npur\urh uu huru 150 750 5

30197331 lut![2pulmLml uu huln 2200 2200 1

30199231 t urilur\Jl bpurp A5 &Lur2ur$|r uu huln 40 800 20
3924L270 {!4g!4 qn-,thL1ur\ur1}rtr uu hunn 250 250 1

228tt130 Stup 24 [2 uu huln 250 250 1

228tlt30 Shup12 t2 uu hunn 30 60 2

30192160 trurlu4prutr;nr-p/ 2rnFblu uu hurur L20 600 5

Sprutruqnprnur;]rh hFrptp/ blqqub 4264l ,tplg 3s00000
9t34220 lf qtlurlf h rlrunhfrp(e n 590) 4nuill 1100000 1100000 1

24100000 U\il{urbqurq s2 rIFurd 1580000 1580000 1

33191470 Utlluuyuttp/f hnhurururn unlurnrlhptllltb/ uu hurur 60000 120000 2

9211100 Sutpdlr2f pul uu Dup 1600 150000 93.75
34331300 U{uniltphtrurbhp}r qruhhuururilurutp uu rIFluil 5s000qa 550000 1

9thguqu{btr h hrutrpurglrtr uhtq}r hlmptp/h_n4rlurb 4267l, np}rg 250000
39836000 .I.lht uu hunn 1000 12000 72
39831271 -{ugnq h rlurppq rf}r2ngbt1 uu ul{r 460 11040 24
18421130 lhufhh Abnbagtrhp uu qNLJq 250 1s000 60
3983L272 lilurh Lrlurhurlnt hhlnt\ uu huln 530 6360 L2
39224332 )nq1 uu huln 2000 4000 2

33761000 lnqurFrutrlr fanqp/ nntlnlunl uu huln 150 15000 100
3t527240 h1t\upur\urh lullqtp (Lb'I) 50.{yr uu huln L00 6000 60
39522330 l,ulnur\ rftuppb1m2nl uu hurur 1500 12000 8

39811300 )4p purprlurgtrnrl hhrlmll uu hurur 750 annn L2
3983t244 lhrlnr\ odurn uu hunn 400 5400 16
39514100 Jbbpturtrh lururlmn unph:trhn uu hurur 400 3200 8

39837000 3rufuu{t1 uu hurur 500 33000 55
44511110 trurh ur2luunnurbpurl|rh uu hurur 2300 23000 10
34921260 Durlur;ur u1n2tp UU hurur s00 7500 15
44511L70 Drglo UU hrurn 1300 6500 5

424t5220 JurJLur\ phnlluururp, rft\ ur\nrl uu hrurn 16000 80000 5

2ruurnr\ lrr{ulnur\ytlrtr run trlnrf tp/bqrlruE a269l, np}rg 810000
16320000 unuhhAlr: ilhphburthplr qurhhuurunluruhp uu 4nurU 80000 80000 1

33693100 @nthurLlntptp uu huln 2800 56000 20

674000
33693100 -urfq' t\nLmf, 40r{ur, 19ftJU, E27, 220.{ uu 4Funl 1500 18000 1,2

3r52L420 -urlul'Unufhtrtugthrnurl]rh, 18t{ur, 220.{ uu 4Full 500 6000 t2
31588100 :tt\unur\ruti rlurn+urh' rlhurf htn, lrtnplrh rfntnnurdlr-hnrlurhgnulnrl uu huln 650 13000 20



31681510 hhturnurturh ul{ufiillhl, rl}ru$uq 32A uu hunn 950 9500 10

31551400 Jh\ntulrl dunqullhhhhp uu hurur 200 2000 10

3L221t80 -ulfiltnh UnBurnhtn dtb q1ruril 100 1000 10

3t22rr80 .ulftqtplr \npurnlrtp \urlr:arllr urnururnurqJr h "rlurF uu +purl 400 8000 20

31321190 fit\rnpur\ruh lurp' 2*4rftI uu +Furl 250 25000 100

31321190 tjr-uurpAur$rtF Gb'I) 50'{u uu qlrunt 40000 80000 2

31512360 -urrlnl' t\nbilI , 95'{rn, 26}tt{, E27 ,220.{. uu 4IrurrI 2300 46000 20

3L521240 Itturnru\urh Lulftqtn Gb'I) 50tlu uu 4nulrl 5000 30000 6

444tLtL0 lplrbnpur\ rflu\ult uu huln 1500 3000 2

.444tL120 lplr bnpu\, 2 rltut\utt uu huln 7000 21000 3

441,63L77 flhrnlrlrh lun4n{u\ t' 7 | 2 uu il 300 21000 70

44163L72 tlhrnirhb lunqn{ur\ 1, 3/4 uu u 350 24500 70

44L63173 (}turlrlrt luqnqu\ 3, 1 uu rI 650 45500 70

44423240 Urulrryrqp rltutuugur uu hruu 1s000 30000

44322t00 Jurtntlu, hunftu\urpqfr,UTP Cabele 6 level uu d 100 1500 15

44t926t0 Jtlu, 2]rhurpuput\ult uu \q 700 10500 15

44t92620 Uh[u, rfbrnuqur\utt uu ltq 800 12000 15

39299320 lurl\Jr, urnruhg 2p2urbu\]t uu huln 8000 32000 4

249LL200 Jnuhh&, [rlnr-1u]nu uu \c 1250 2500 2

4452t120 Inurtr rfrur\rutrhbtp uu hurur 12000. LaWV 1

4213t400 lpnut1 uu hunn 5500 55000 10

3t717200 +ntr4hLuurunp uu hruur 1500 15000 10

31211400 lllrnnrhurn urtrpurub) uu hurur 15000 150000 10

Urunrulnrp;nilrhtp 7274000

hlrtpqhrnlr\ burnulnrplnilr/hup{rut 4212l,np}rg 3800000

65311100 L1h\rnpur\urbntplurt pur2|untrl UU nnrurl 3800000 3800000 1

Uqrular[ruqnu\uh bur.uulnrpptb/ hn4rlrub a2$/,np]rg 64000

66511170
Dnluurapunllr2nghhplr htur \ulqrlrub urqruhnrluqpu\urlt
\rtmrrrnr larnthhhn

uu rlpuil 54000 64000 1

clnqplr h uurpgrurlnpntrttrhplr rlruF&ru\rulnrplnth /br4r[urb 4216/, np]rg 2410000

60181100 trbn0ruurup0bnh {rundruUutntp1nr0' tlunnnnh hEut dfttuuft0 s2 rlpuril 2410000 2410000 1

Ctr4hrutnrp ptrnqplr rullburnrugntpprblrtp /hn4rlrub 489/ 1000000

50231100
Pur4uprul]rh 1nr-uunlnpnrplurtr rurlurnilurur \unu{urptlutb
rrrr r f urhurnotnh uu:uruurnbntrl

uu rlpur{ 1000000 1000000 t

U2lururnrubphbp 1486000

Ghtrphplr h \urnnqgtrtplr ptrpruglr\ b-npnq+trl tr qurhqrubar-rl/ hq{ub 425tl,n 'pFs 13s0000

45211L73 Gprurfnrurptplr 2]rlluprupur\ruL ur2|uurururbphtp uu +IrurJ 300000 300000 1

45231131
lpulfunnur\urpruprlurh lunrlnrlur\ur2urphplr hkrn \uq{ub
uoluurururhBhtn

uu rlpuril 150000 150000 1

45rLL470 Lurb42ur$uul1]rh ur2luruururtrptrtp ulqbhtpb hrurturp uu lFurU 900000 900000 1

Utphhruhtplr tr uurppunlnpntrltrhplr phprugh\ brpnqpr-rl h ulutrqurtnuf /hn4rlrub 4252l,nplrg 100000

50530000 lunndhhurhurluul uurpplr purppplr2]r firgpu{npnttl UU huln 4000 16000 4

50311240 rlunndhhurhurtnq uurpplr $rpurgb\ qbpubnpnq+ttl uu huln 28000 84000 3

4lurprn.'d'I r[druphhp /bqr[urb a88l q?n +Fuil 36000 35000 1



I
I
I

Ournurlntplnthhtp 2000000

lLt1plrh $p8nqnuthtp/ br4rlurb 4221l q?,t rIFurl 2000000 2000000 1

Uqluhphhp 100000

9pnruthlu\ru1]rb hgnrphp h qlunntlphLp / hnarlrub 4il6tl, Dbs 50000

30L992t2L +pb2/qtqb\uqnp uu hurur 100 2300 23

30192128 +plr2/qt1u1}ttr uu hunn 150 3000 20

30t92t37 Junnlnn qrur$]rurt rflr2nr\nrl uu huln 100 1500 15

30197232 ?rUaurquLuV urpurqur\urp, pqplur uu huru 80 2400 30

30197233 @ryauqurburl1/plph .ph1nrl uu hunn 100 4000 40

30197234 @ryaurquhurVfarpunqurhur\ \n2ur \urqrlnrl uu hunn 1000 10000 10

30192L00 llhrnlrtr huruurpur\ uu huru 100 500 5

30197331 lur\]r2puhnlm{ uu hurur 2200 2200 L

30197321 trupf2(urnhrqlhp) uu hurur 1700 1700 1

39263310 Jpurgnq u\urhlr uu hrurn 900 1800 2

3924L2t0 U\purur/qruruthlur\ur1 irtr uu huln 250 250 1

30199420 fdnqla tr2nr-rf hhplr hullurp/ unuh&rlurbpnrl uu un{r 200 1200 o

30199430 t 2ndhtplr pnqp /urpgur$rtpml uu urmr]r 300 - 1800 6

30197631 Fnqp/ A  $nprfulnlr (21x29.7) uu urntrh 2300 16100 7

30t92720 Ibuh2f2 (ilurp\tp) uu hurur 250 250 1

30197111 +rupp2]r iltrnuqurlurph \uqtp/ rlurpp UU urrrrrh 100 1000 10

9tbguu1u1|rtr h hruhpurl]rtr uLt4|r trlntphp/br4rlrub a267l, nplrg 50000

39831241 Odun/&hnplr uu hurur 260 L300 )
39835000 l,ltr uu hurur 750 1500 z

33761000 lnqupurLlr pnqp/ nntlnbrrrl uu huru 100 2000 20

3922433t Inr-11 puru/ 14t11 qluruunf uruurl]rg uu hunn 600 600 1

3922434t Qullplnq (urr1lup\q) / qluruunluruurl|rg uu huln 600 600 1

39s13200 @qlah, ub&tnnglrll uu hurur 105 2100 zv
19641000 tln$kplrlhhurl]rh rnnrqpru\htp, qurpll/ uqpf hrurlurp uu hurur 10 t40 L4

398ss000 lururur\ rlurppn{ Arut uu hunn 1000 1000 1

39831261 )durnlr ulupur/ Odrunlr urnulr uu hunn 250 750 3

39831244 )durn / urtnntuur\urh uu hunn 150 L500 10

39839100 Tnquplrur\ (uulln\) /Ury: hunlurptlnt hrurfurp Annnr/Utrnuugur uu hurur 1400 8400 6

39839200
lnqurp[ur\ (uu{n\) /Urp hu{uphlnt hunlurp
lnlnrl/nr uruulluruurrhq uu hrurn 130 780 6

3981L300 lnuuqu[1(4tqnrprp) uu huln 370 4440 t2
39812410 9ulurtlpf $ullbgilurh rllr2ng uu huln 600 3600 6

39831271 Jqnthq/ Uurhburupurhhqthh\ h2urtrur\nr-p1urh uu hrurn 50 750 15

39838000 Urlhlqnqupfurl$ htrn/ uu huln 1400 1400 1

39831242 Lrlutgplt trZlt d.hnpml llruhurlnt hullurp uu tts 880 2640 3

39514100 Funlpurllur rlur$lhhrfurh luunlnrn upplr2lrtp uu huln 1500 7500 5

39522330 Zurutur\ ilurpptlnr- 2np uu hurur 750 6000 8



39522330 Juppn4 \unpbtp uu urnrrlr 150 3000

561000

20

Ournu4nrp;nrhhtp

hbtpqtub\ burnrulnrplnrh/hn4rlrut a2L2 l,q\rg 250000

65311100 h1h\tnpu\urlnrplurh pur2|unul uu 4ntuil 250000 2s0000 I

9nrfnttrrul trunuqnrplnilrhtp/bn4rlurb 4213/,nplrg 45000

65111100 lturlhlnt 2plr pur2[until uu +purJ 45000 45000 1

9ulq]r Lunrulntplnrhht/'hn4rlrub  21al,nplrg 50000

39111140 Ftrutphtu uu 4Iruril 50000 s0000 1

Ql4huhn4 pbnqplr bunulntppilrhtp/hn4rlrub 42391 nplrg 215000

9834LL40 'tlu:hrqurhnplurh bunurlnrplnrh uu ulllru 18000 216000 L2

Uqpubplrtp 180000

9fbguqul|rh hhurhprul]rh ubh4lr hlnr-ptp /h-n4rlrut 4267l, nplrg 100000

39831241 O6un/dhnplr uu hunn 260 3900 15

39836000 u{hr uu huln 750 3750 5

33751000 9ntqurpurhlr pnr4p/ nmlnhnrl uu huln 100 4000 40

3922433L }m1p pruu/ r1nq1 qlururnrluruur;|rg uu hunn 600 L200 z

39224332 }nq1 puru/ r1nq1 gfir\uruluur uu hurur 1300 2600 2

39224341 lullplnu1 (uunrurp\q) / qluruunluruurl]rg uu hurur 600 1800 3

39224342 ?unlplnr4 (urUup\q ) / rlttnu:l1ur uu hunn 1600 1600 1

39s13200 trqpt, urb&tnngh\ uu hunn 105 zoz) 25

19641000 tlnfirkpirltburl$r unqpur\trtp, qurpfl rqp[r hurlurp uu huln 10 3250 325

39855000 lururur\ rlurppn{ Ailt uu huln 1000 5000 5

39831251 )durnlr ururpur/ Odurn[ unr{r uu hurur 2so 750 5

39837244 Cdurn / rntnnhuur\urb uu hunn 150 22s0 r.5

39839100 lnqurpirur\ (uunln\) /Uryr hun[ruphlm hullurp AqnqfiJhuur5ur uu huln 1400 2800 z

39839200
lnqurplrur\ (uulln\) /t\r hunlurptlnr- hullurp
\nnnrl /'Ih uruurilruuurrhq

uu hunn 130 260 2

398L1300 lnururqurlr2 (1tqnryrp) uu hunn 370 740 2

39812410 trulmlp}r $u11h gilurtr rllr2ng uu huln 600 3000 5

39831271 Uqnr-hq/ Uruhfrutupurhlrqthlr\ tr2ruhur\ntpprh uu hunn 50 z)v 5

3983L272 Uqnrhq/ Urlurh plurlnt uu hunn 30 150 5

39838000 [ftqnqup]rur\hhtu/ uu hruur 1400 7000 5

3983t242 Lrl*Sptt +rrZlt &hnpml $urhurpr- huLlurp uu \q 880 2640 3

39514100 Puilpur\.1u {ur$ltbdub }uu{nur upp}rltrhp uu hurur 1500 7500 (

39522330 I,unnur\ rlurpphlnt 2np uu hurur 750 6000 8

39522330 Uurppn4 \unpLtp uu unlrh 150 6000 40

15800000 ?urhruqurtr uhb4ullptpp uu llrud 3093s 3093s 1

2ruurnt\ hulurnru\ru1|rh ru1 trlnrphp/h4rlrub 4259/,nplrg 80000

18531100 ,{hpLhp L qupqhhtp uu rlluril 80000 80000 L

Urunru;nrplntbhtp s05000

hhhpqtub\ tilrprulnlplnlbAn+qurb a2nl,ryfg 250000

65311100 h1h\uput\ulmtplurh pur2f unr-rl uu 4nuril 250000 250000 1



I
I

trnrfnrhrul brunurlnrplnilrtrhp/hn4rlrub 4213/,nplrg

buurulnrp;ntlrtrtp/hn4rlrub aB9l, npf g

gpruuttrlur\ru1]rtr trgntphp h qllnaqphtt / \{ut 4261l, np}rg

228tr150

22811140

3782L240

thtrguqrul|rtr tr hrubpurl]rh utrtr4|r trlntptpftnrplrub a267 | ' 
nylg

uhtu4|r \uqilu\tpqnttf
2ruurnr\ hulurnru\rullrh ru11 trlnrphp/hqrlrut 4269/,nplrg

OunrulnrplnrLhtp

Ub4]r qunnpururrlurh

eLpugh\ qhrnru\urtr h hrurfrultrphtplr ny urnLurprul]rh / bqrlurb 4637 1

Cb4hrutr-n4 ptrrqplr brunrulnr-plnthtrhp/hn4rlurE 4239/, nplrg



99500000 iutZlttrlt ph{ 1LnhZ znUq-}rh urpurbu$tpur q2'rl +Iruril 5500000 5500000 1

99600000 lut2[p[ pf{ 3 Lnhz ZOUq-}rh rnpurLughpur q?'[ 4Furil 11500000 11500000 1

99600000 sur2]rp[ p[{+ LnhZ ZnUq-}rtr rnpurhugtpu q?.1 4puril 24000000 24000000 L

Uurnurlnrplnthhhp 270000

Uuruhurqllnru\urh burnrulmplnrhhtp/ hnrFlurb a24l/,nplrg 270000

85110000 lbquh4urLngu{}rh h hurpur\}rg burnur3nrplnr-hhtp uu 4Full 270000 270000 L

Uurnrulntplnthhtp 2500000
Ct4hurb_n4 plnqplr ur11 Eurnurlnrplnrhhtpftnrplrub a239l, .nlrg 2500000

9839L200 Ol.1t{npullrnluur4prlurtr burnrul nr-plnr-htrhp uu +Furil 2500000 2500000 a

Cltptuglt\ rtFuilur2lnphtrhp rqtrnru\urh h hrurturltrphtplr n2runhrnprul]rh / hn4rlrub 46371 21000000

99600000 lur2|rp[ Up{turn}r qqpng 2OU9-}rh rnpurhugtpur q?,t +Puil 21000000 21000000 1

Uqjutrphtp 110000
Qpruuthlur\m;]rh bprytp h qlrurmlptrtp / hnrplurb a261l, nplrg 25000

30197234 }rUaurqurhurVprpurqurtrur\ \n2u \urqrlnrl uu huln 10ffi 10000 1.0

30197631 @nqp/ Aa $npilunnlr (21x29.7) uu unt{r 2300 1.3800

301992L21 +ph2/qL+\uqnp uu hurur 100 1200 LZ

tlnn42uqurhru\urh tr LurFnprurnnp hlnrptp/bqrlurb  266l,nplrg 10000 10000
33141133 Ffbu pd2llur\urh kluruulr\ ullrpurpurpurllrtr N1, 2 uu hunn 200 2800 t4
33141777 3uilpur\ uu huln 100 2400 10

33531260 )n4 uu hunn 800 2400 3

15911100 Jqlpu pd2\ur\urh uu hunn 800 2400 3

thhguupul|rb h hurbprul]rtr uhh4|r hgnr-ptp/b-n4rlruE 42G7l, nplrg 7s000
39831241 Odur/Ahnplr uu hruur 260 3900 15

39836000 u,lhr uu hurur 7s0 3750 5

33761000.' ?nr-qruFurLlr pnqp/ nnrlnLnrl uu hu.nn 100 8000 80
3922433t lnr-11 pruu/ rpt11 qluruunfururul]rg uu hruur 500 600 1

39224332 }nr11 puru,/ r1ntl 1 glrtr\urqrurn uu huln 1300 1300 1

39224347 ?rurfplnul (uupup\r1) / qlururnrluruurl]rg uu hurur 600 600 1

39224342 luilplnq (uqlurp$) / rlturur4ru UU hunn 1600 4800 3

39s13200 Arnat, uL&tnngh\ uu huln 105 5250 50
19541000 tlnD\plrfthurtlrh urnqgu\htp, qurp\/ uq3]r hunlurp uu hunn 10 980 98
39855000 lulnru\rlurppnq &q uu hunn L000 2000 2

39831251 )durnlr ururpur/ Odrunlr rnnulr uu hunn 250 750 5

3983t244 )durn / urhrnhuur\urh uu hruur 150 1800 L2

39839100 lnqupfur\ (uul{n\) /tfu hullruptlm hulftup dn4ml/Utulq;ur uu huln 1400 1400 1

39839200
lnqurplrur\ (uunln\) /\r hrurlurptlnr_ hunlurp
In4 n{ /'tl1 ururnrluruurt hg uu hunn 130 780 6

3981.1300 brururqrnlr2 (4hqn4np) uu hurur 370 4440 T2



398124t0 rruhrqpf {rurllhgrfiuh rtf 2ng uu hunn 600 3000 5

39831271 Uqnrbq,/ Uurtrf unupruhlrqhhlr\ h2urhur\mp1 urh uu hurur 50 750 15

3983t272 Uqnthq/UrfiuL 1lur1m uu hurur 30 450 15

39838000 J{\qnqup}ru\}r htur/ uu hurur L400 2800 2

3983L242 -rl*gph thoZlt d,hnpml llruhurlm hulftup uu \e 880 4400 5

39514100 3unlpul1;u rlur$ihhrfurh ]ururlmn upp]r2trhp uu huln 1500 12000 I

39s22330 lunnur\ rfurpphlnr- 2np uu hunn 750 5250 7

39s22330 Juppn4\unpLhp uu urr rh L50 6000 40

Uurnrulntp;nrhhtp 1562000

hLhpqtulr\ brurrulnrplnttr/br4rlru8 42L2l,tpfg 950000

65311100 h1t\upur\ubmp1urh pur2]unr-rl uu 4nuil 950000 950000 1

rrnrfnr-hur1 brunru;nrplnrhhtp/ha4rlruE a2 13/,nFlrg 120000

65111100 tudh1m 2pf pru2lunr-rl uu 4lurd 120000 120000 t
Ct4hurbar-p pharlplr Eurnrulnrplmhtrtp/hnqrlurE aB9l, nplrg 432000

98341140 nu:hqurtatplurh brunurlnrplnttr uu uilbu 36000 432000 12

Uruulnuqlrulu\ruh brunurlnrplnrtrhtg/ br4rlrub 4241l,nplrg 60000

851.L0000 Itbqub+ulmgurl]rh h hurpur\]rg burnurlmplnthhhp uu +Furd 60000 60000 L

UqluLpbhp
d 150000

Qpruuthlur\ru1]rh trlnr-ptp h qlru-ntlptrtp / b-n4rlrut 4261/, nplrg 70000

30197631 f}nqp/ Aa $nprlururlr (21x29.7) uu uurrrf 2300 20700 o

30192740 fdnqla qmhullnp, Aa d,Lur2rurfrfr UU rnnlrh 2600 23400 9

30L97237 faryaurqurhu\ qnflrrfhpurl]rtr purqurhp, $ur11 uu hruur 15 180 L2

30t97232 @ryauqurhur\ /urpurqur\urp, prplur uu hunn 80 960 t2
30L97233 @r1qurquLur\ /pqpt, ptlml uu hunn 100 500 5

30197234 @{aurulurtrurll /prpurqurtrur\ \n2ur \urqr,tnrl uu hunn 1000 1000 I
30199232 Jputp/iltb, A4 $nprfu:.urlr hullurp uu hunn 60 600 10

3079212L +pb2/q\b\utqnp uu hunn 100 1000 10

30192128 +ph2/qh1u{blr uu huln 150 750 5

30199420 9nup L2mdbtplr hunlurp /unuh&rlurbpml uu uurnJr 200 400 2

30199430 u2miltrhplr pnqp/rnpgur\trtpml uu urrr{r 300 900 3

39263200 $puruhhlur\urllttt glrnp, rlunnlurh uu hunn 1000 1000 1

3019732t 9urpf2 (uuhqltp) uu hunn L700 L700 1

30192710 Unutrd,ullunn[ur, qpuruhtrlur\ur1 ]rh uu hurur 250 500 2

39263310 Oputgnr3g uhrlurhlr uu hurur onn ann L

30L92720 9buh2f2 (rlurp\tp) uu hunn 250 1250 5

30192136 Uulnlln qpur$|nnt ur\uu1prlnl rtlr2m\ml uu hunn 200 3000 15

30L92L37 Uulnlrnqrur$lrut rllr2nt\ml uu hrurn 100 1900 19

30197111 9urp[2f ilhuruqurlurpt \urqhp/ rfrrrpp uu un{r 100 900 9

39292510 €urbnh,qluruurlr\ uu hurur 3s0 700 2

30L921L4 f&uhurp, \Llrpf pupdlr\|r hunturp uu hrurn 250 250 1

39263510 Utrlilur\ (\tlqu)/ tnpp uu hunn 25 qnn 20
39263s20 U\rftu\ (\t'qu)/,Ihrl't' uu hruur 40 400 10



39263530 Ut4ilur\ (\rluru)/iltb uu huln 60 600 10

30192100 tlturlrh hruuurpur\ uu huln 100 500 q

30192750 bprlururnhphhplr hullruprubnt uu tnnt{r 500 600 L

30192760 Up[urr{npulutr UU hurur 150 750 5

30197331 lur\[2putrrbml uu hruu 2200 2200 1

30199231 Luilur\) bjup A5 d,Lur2ullrfr uu hunn 40 800 20

3924L2t0 Ulpuru/ qruruhtrlur\ur1]rh uu hunn 250 250 t
228tLt30 Shup 2a [2 uu hurur 250 250 1

22811130 Stupl2 12 uu hunn 30 60 2

30192160 Fuulu4purLln.p/ Zurpltlu uu hurut 120 600 5

9tLgurr1ulbb h hrutrprul]rh uhtr4]r bprptpftnrplrub 4267l, nplrg 80000

39831241 Odu:r/d,hnph uu hunn 260 3900 15

39836000 r{tr uu huln 750 3750 5

33761.000 lnqupub}r pnqp/ nmlntrml uu hurur 100 8000 80

39224337 lnr-11 puru/ rlnr-11 qluurnrluruurl]rg uu hunn 600 3000 5

39224332 }nr11 puru/ 4nr-11 glrh\urqunn uu huln 1300 6500 5

3922434t 9urilp1nu1 (qpup\1) / qlururnrluruurl[rg uu hurur 600 1800 3

39224342 Qrurlplnul (qlu1\q) / ilhuruulur uu huln 1600 4800 3

39513200 Oryab, ubd,hnngf\ uu hurur 105 5250 50

19641000 tla$hp[1tbu1]rtr rnaqpur\hhp, rqurpl/ ruryr]r hrutlurp uu huln 10 960 96

398s5000 Z,ulnur\ ilurppnl Affl uu huln 1000 1000 1

39831251 Jdru{r ururpur/ Odrurr}r rnntrfr uu hruur 250 750 3

3983t244 Jdu:n / urhrntuurl1rutr uu hurur 150 3750 25

39839L00 lnqup[u\ (uunln\) /lfu hun{urptlnt hunlurp drqml/Uhnu:rgur uu hunn 1400 8400 6

39839200
lnqurplnu\ (uunln\) /Ury: hullurphlnr- hunlurp
\n4nr]/'tl1 ururnrluruurl|rq uu hunn 130 780 6

39811300 huruqurlr2 (4tqnrprp) uu hurn 370 370 1

39812410 lulnqpf {ulltgrlurh rlfr2ng uu huln 600 3000 5

3983L27L Jqnr-hq/ UrutrlnnurpruhlrqhLlr\ h2urhurllmpl urh uu hurur 50 750 15

3983L272 Jqnr-trq/ Urlurtr 1lur1m uu huln 30 450 15

39838000 {tlqnqurp}rur\} htur/ uu hurur 1400 1400 1

39837242 -,l,ugph trrZ}t Atnpml llurburlm hulhul uu tts 880 2640 3

39514100 rullpru[ur rlurQlhhrlurh ]uullnur upp]r2trhp uu hunn 1500 7500 5

39522330 luruur\ rlurpphlnr- 2np uu huln 7s0 5250 7

39522330 lJuppnrl \unptrhp uu unr{r 150 6000 40

UrunruSntplnr.hhtp 80000

hhtpqhuf\ burnrulnrplnrh/ba4rlrub 4212l,nplrg 80000

65311100 h1t\rnpur\urLnr-plurh pur2]untrl uu 4purl 80000 80000 1

Orunurgntpprhhtp 250000

Znqup\u{npatplurh huluurnbtp plnr-2t1}rg ftuplrub 4726 / q?'[ 4nunl 250000 250000



U1 lnqruurnhtp ppr2flf g ftqrlurb 47 29 Lrplrg

a


